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A ball of mass 0.25 kg is thrown from 0 m/s to 25 
m/s. 

a) What is the impulse on the ball?

b) If the momentum changes in 1.25 s, what is 
the force acting on the ball during this time?
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A 0.25 kg ball with an initial velocity of 20 m/s collides with the 
back of a baseball player's glove (in an unfortunate turn of events). 
The ball rebounds with a velocity of 12 m/s, and the mass of the 
glove is 1.25 kg. What is the velocity of the glove? Assume the 
initial velocity of the glove is 0 m/s.

a) Draw a conservation of momentum diagram.

b) Conservation of momentum equation.

c) Solve.
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